R 2

vy
A L = xR
(A+LEA R) TR295E10H 24 A
= w P = ERBR (T B & T & M MR 6 REEE L & @ .

T T E%Fﬁmzﬂﬁ% (Bidk - M) [ (B - H) | (Bisk-H)

%%E%i? - EFNEEERAE K OB A 90H (LI B SO0 EHIL 64 2,652,000 2,362,000 2,580,000 RIRHELRER WA RRER
TRk 29 EE FHkE B 2 B

e B R %ﬁ&%{-%%%’?ﬁ 100 A BEHKE 4,000,000 3,132,000 3,700,000 5 HE + Kk =
TRk 29 B£E FHkZE B 1 B 2

T 2 1] LA ﬁg&h%%%;ﬁ 100H mERFE ) 2,812,000 2,188,000 2,650,000 :@37}';;\7/'1 + &x =
TRk 29 £ EME F 17T B TR B O BT

RS R s T 50H BB 2,177,000 1,904,000 2,000,000 WEERZ + K &




